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ACCOUNT ASSISTANT (RPC) IN THE DEPARTMENT OF KARNATAKA STATE AUDIT AND
ACCOUNTS AND INSPECTOR OF CO-OPERATIVE SOCIETIES (RPC) IN THE DEPARTMENT
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General Knowledge Paper-1 (Subject Code: 559)
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Question Booklet Series - 'D'

Total Marks : 100 1 Mark for each question
Question Key Question Key Question Key Question Key
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1 2 26 3 51 2 76 4
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21 4 46 1 71 4 96 2
22 4 47 4 72 1 97 1
23 2 48 1 73 2 98 2
24 4 49 3 74 4 99 1
25 4 50 3 75 1 100 2

Note: Every question for which wrong answer has been given by the candidate, % th of the marks
assigned for that question will be deducted.

Sd/-
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Karnataka Public Service Commission
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Assertion (A) : The coastal
districts of Karnataka lack in
canal irrigation.

Reason (R) The coastal
districts of Karnataka receive
sufficient rainfall.

(1) (A) is correct but (R) is
not the correct
explanation of (A)

(2) Both (A) and (R) are
correct and (R) is the
correct explanation of (A)

(3) (R) is correct but (A) is
not correct

(4) Both (A) and (R) are ‘not
correct

Chemical
prominent in

weathering is

(1) arid and semi-arid regions
(2) polar region
(3) hot and humid region

(4) temperate region

(3)

3.

What is the correct sequence
of mountain ranges of central
India from north to south
direction?

(I) Vindhya range, Satpura
range, Ajanta range

(2) Satpura range, Vindhya
range, Ajanta range

(3) Ajanta range, Vindhya
range, Satpura range

(4) Satpura range, Ajanta
range, Vindhya range

Observe the vegetation types
from the following :

(a) Littoral vegetation

(b) Evergreen vegetation
(c) Montane vegetation
(d) Deciduous vegetation
(e) Coniferous vegetation

Which among these is not
found in Karnataka?

(1) Only (b)
(2) Only (@)
(3) Only (c)
(4) Only (e)

D|
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S. How many medals did India
win in the Asian Games 20227
(1) 105

(2) 107

(3) 110

(4) 102

. Which is the first “Har Ghar
Jal Certified” State in India?

(1) Karnataka

(2) Goa
(3) Kerala

(4) Maharashtra

7. In which year was Kannada
granted the status of a classical
language by the Central
Government?

(1) 2006

(2) 2009

(3) 2007

(4) 2008
/559
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8. Match List—I with List—II
and select the correct answer
from the code given below the

lists :

List—I List—II

(i) Bhagat Jawahar (a) Banda
Mal Rebellion

(i) Dhar Rao (b) Kuka
Rebellion

(iii) Chennamma (c) Kittur
Rebellion

(iv) Narasimha Reddy (d) Poligar

Rebellion
Codes :
G @ @) (i)
1) (@ (© (b (4@
2 ®) (@ () (4
B (@ (@ (b)) (4
@) (@ B (¢ (4
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9.

10.

Assertion (A) : After their
occupation of Bengal, Bihar
and Orissa, the English used
various means to bolster their
trade which resulted in the

decline of Indian handicrafts
industry.

Reason (R) : The British
monopolised the trade of
Bengal through various
legislative enactments.

(1) Both (A) and (R) are true
and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Arrange the following in
chronological order :

(i) Surat Split

(1)

(iii) Foundation of Muslim
League

Partition of Bengal

Congress Session drafted
its Constitution

(iv), (i), (i1), (1)
(iti), (ii), (i), (iv)
(ii), (iv), (iii), (i)
(ii), (iii), (i), (iv)

(iv)

(1)
(2)
(3)
(4)

/559
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11. Consider

12,

the following

statements :

The Cripps Proposals included
the provision for

(i) full Independence for
India.

creation of Constitution-
making body.

(i7)

Which of the statements given
above is/are correct?

(1) () only
(2) (i) only
(3) Both (i) and (ii)

(4) Neither (i) nor (i)

The First World War had a
huge impact on the Indian
Economy.

(i) Establishment of Indian
industries increased
employment opportunities
for workers

(i) Increased production of

weapons necessary for

war

(@) The conditions of the
masses and labor improved

(iv) The prices of pulse grains
decreased

Which of the above statements
are correct?

(1) (i) and (ii)
(2) (i) and (i)
(3) (ii) and (iv)
(4) (iv) and (i)
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13. {erange the following Diwans
in the chronological order :

(i)

M. Visvesvaraya

(i) Poornaiah

i) Seshadri Iyer
(i) Kantharaj Urs
(1) (@), i), (i), (iv)
(2) (@), (i), (i), (iv)
(3) (@), (@), (i), (i)
(4) (), (@, (), (i)

14. Match List—I with List—II of

the following :

List—I List—IT
(i) Ibn Batoota (a) France
(ii Barbosa (b) Persia

(i) Abdul Razak (c) Morocco

(iv) Tavernier (d) Portugal

@ @ @ (v

1) (@ () (@ (@

@ (0 @ (b (@

3 @ ( (b (a

4) (@ () (2 (0
/559

15. Match List—I with List—II of
the following :

List—I List—II
(i) B. M. Srikantaiah (a) Painting
(i) K. Venkatappa (b) Vagdevi
(iii) Bolara Baburaya (c) Indira

(iv) Gulavadi (d) Aswatha-

Venkataraya man
A @ @@ ()

1) (@ (b (@ (d
2 (¢ (@ (b (a)
@) (@ (g (b)) (a)
4) (@ (a) (b) (o

16. Who was the leading figure in
the 1857 Armed Revolt against
the British in Mundargi?

(1) Veerappa
(2) Bhaskar Rao

(3) Venkatappa Nayaka

(4) Bhima Rao

D
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Mysore Chalo Movement was
related to which of the following
events?

(1) Independence Movement

(2) Karnataka Unification
Movement

(3) Quit India Movement

(4) For
government

responsible

The Esuru Tragedy happened
during

(1) Quit India Movement

(2) Non-cooperation
Movement

(3) Integration Movement

(4) Mysore Chalo Movement

Which of the following
statements is considered for
the conservation of bamboo
resources in Karnataka?

(1) Monitoring of the natural
regeneration of bamboo
should be undertaken

(2) Increasing the length of
extraction cycles to at
least 4-9 years should be

attempted

(3) Retention of clump
branches of the clump
during extraction should

be enforced

(4) All of the above

(11)

20. Which of the following is the

21.

correct sequence of
ecosystems in the order of
decreasing productivity?

(1) Oceans, lakes, grasslands,
mangroves

(2) Mangroves, oceans,

grasslands, lakes

(3) Mangroves, grasslands,
lakes, oceans

(4) Oceans, mangroves, lakes,
grasslands

Assertion (A) : Biosphere
constitutes an excellent life-
support system which is
sustainable and can fulfil all
human needs.

Reason (R) : The size and
productivity of the biosphere
is limited by availability of
water, nutrients and
environmental conditions.

Codes :

(1) Both (A) and (R) are true
and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are true
but (R) is not the correct
explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

D
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22. Match List—I with List—II of
the following :

List—I List—IT
(i Stratosphere (a) Ozone layer
(ii) Troposphere (b) Meteors
(i) Ionosphere (c) Aurora
(iv) Exosphere
Codes :
0 @ @) ()
1) (@ ® (@ (@
2) (@) (¢ (d (b
@) (@ (@ (b (o

4 (@ (@ (o ()

(d) Dust particles

23. Which of the following air
pollutants are responsible for
photochemical smog?

(i) Oxides of nitrogen
(ii) Ozone
(i) Unburnt hydrocarbons
(iv) Sulphur dioxide
Choose the correct code :
Codes :
(1) (i), (ii) and (iv) only
(2) (i), (@) and (i) only
(3) (iii) and (iv) only
(4) (i) and (iii) only
/559
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24. The hierarchical level of
organization in ecology is

25.

(1)

(2)

(3)

(4)

organism, community,

population, biome,
ecosystem, ecosphere,
landscape

community, population,

organism, ecosphere,
landscape, biome,
ecosystem

organism, population,
ecosystem, community,
landscape, biome,
ecosphere

organism, population,
community, ecosystem,
biome, landscape,
ecosphere

Complete the series by using
any of the given options :

0,

(1)

(2)

(3)

(4)

3, 8, 15, 2%, ?
33
34

32

35
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2008 110% + 90T 90% +
500 8 49% = ?

(1) 654
(2) 456
(3) 546
(4) 645

WYy, W03 ¥ 508 wowood
50 TRIS) DOeOATZ. “od
BB 40 TR Be. 5 om) SHBQ,
SROTT. B3 FFFTTE, @A
3e. 10 O, &Rg3eonen, s ev9d
TI)NEY Be. QEROR, CTPOBTE,
239002382

(1) 15%
(2) 70%
(3) 40%
(4) 50%
wOTO &ony 25FTe odedd

TN TOTHTT, L@e gony 2Fe
2008 03N OITONTS?

(1) 28 =0
(2) T
(3) @oongsod
(4) B0

(14)

29.

30.

31.

X 20w 3080 HeIT wﬁrd@mu%
ST, ém&pcﬁ. émﬁw A S0z
¥22,400 ©NTY, © JiokH Sane

=333 @m&j ?

(1) 20,000
(2) ¥21,000
(3) 22,400
(4) T11,200

736,000 A¥Ty, 6 momwon,
16 Jonxon Tone 3 Iorsnor
2% 5 1 3 uR0TTE, 502&’@?\%@,
&T,8 BOBONIN BTSN T2 2T

(1) 3,800
(2) ¥3,400
(8) T400
(4) 3,600

20T FTe00Y COLOUR TTI,
123245 :Soajﬁrﬁ@ccs Toge3TeRNd
Ton® MASTER 20w ITIH
678905 Ro38, neom Fogeszuons.
TIMTT LOST 20ty SER odns
RO, MY0T FodedTeIBI?

(1) 3289
(2) 3298
(3) 3982
(4) 3928

D



26.

27.

28.

/559

110% of 200 + 90% of 90 +
49% of 500 = ?

(1) 654
(2) 456
(3) 546
(4) 645

A person bought 50 pens for
% 50 each. He sold 40 of them
at a loss of 5%. He wants to
gain 10% on the whole. What
is the percentage of gain on
the remaining pens?

(1) 15%
(2) 70%
(3) 40%
(4) 50%

If 25th of a month is Sunday,
then what will be the day on
ond of the same month?

(1) Friday
(2) Sunday
(3) Tuesday

(4) Saturday

(15)

29.

30.

31.

The salary of Mr. X is increased
by 12% during the year and
the increased salary is
¥ 22,400. What is his original
salary?

(1) %20,000
(2) %21,000
(3) ¥ 22,400

(4) ¥ 11,200

If ¥ 36,000 is divided among 6
men, 16 women and 3 boys in
the ratio of 2 : 5 : 3. How much

does each boy get?
(1) ¥3,800

(2) ¥3,400

(3) 400

(4) ¥3,600

In a certain series, ‘COLOUR’
is coded as 123245 and
‘MASTER’ is coded as 678905,
then ‘LOST’ will be coded as

(1) 3289
(2) 3298
(3) 3982
(4) 3928
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B3N Tozont 38 [HEF. LI BN
3:3‘ DO OTFINOT ATBO wuoa
RODTNTS. 7 IRE 1S 20T 9T

il

~ 28]

(1) 10 SRENsd
(2) 12 IVFNLD
(3) 15 IRFNALD

(4) 14 I[=Fned

¥ 30,000 =, mowamen 138,008 =6
3% To3 IRPTO aﬁﬁ‘r‘é; 4% =03
DTETe IRFT, TN 5% ToZ
WoRTTC IRFT TEHZT WARTO
SRV TOTT ERELIETIT B |2

(1) ¥33,742-80
(2) ¥32,844-20
(3) ¥35,645-10

(4) ¥30,250-20

(16)
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Raju is 38 years old. He is
twice as old as his son Arth is
now. How old was Arth seven
years ago?

(1) 10 years
(2) 12 years
(3) 15 years
(4) 14 years

¥30,000 is borrowed at

compound interest at the rate
of 3% for the first year, 4%, for
the second year and 5% for
the third year. Find the amount
to be paid after 3 years.

(1) % 33,742-80

(2) % 32,844-20

(3) ¥35,64510

(4) % 30,250-20

(17)

34. Land Reforms Amendment Bill,

2020 has removed which of the
following restrictions on the
ownership of agricultural land
which was laid down by
Karnataka Land Reforms Act,
19617

(1) Only people with income
less than 30 lakhs per
annum are allowed to buy
agricultural land

(2) Only people with income
less than 20 lakhs per
annum are allowed to buy
agricultural land

(3) Only people with income
less than 25 lakhs per
annum are allowed to buy
agricultural land

(4) Only people with income
less than 35 lakhs per
annum are allowed to buy

agricultural land
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1961T TJoF 8T PR TOTOTTHo
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38.
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35. Section 126 of Land Reforms

Act, 1961 deals with the
tenancy of

(1) corporate lands
(2) Inam lands

(3) cooperative societies’

lands

(4) joint family lands

36. [Inam Abolition Act of 1977
covers which of the following
aspects?

(i) Communal land and
forest lands

(ii) Vesting of buildings

(iii) Right to be registered. as
occupant

(iv) Payment of land revenue
to the government

Choose the correct answer from

the symbols below :

(1) (i) and (ii) only
(2) (iii)) and (iv) only
(3) (i), (ii) and (iit) only

(4) (i), (i), (iii) and ()
/559

(19)

37. Water management committee
under Chola administration
was called

(1) Araghatta
(2) Erivariyam
(3) Samvatsara Variyam

(4) Thotta-Variyam

38. Nagavi Ghatika was patronaged

by
(1) Kadambas
(2) Chalukyas

(3) Rashtrakutas
(4) Kakatiyas
39. In which Buddhist site was the
portrait of Ashoka found?
(1) Rajaghatta
(2) Kanaganahalli
(3) Nagarjunakonda

(4) Dharanikota
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Ingaldal mine in Chitradurga
was known for extracting
metal.

(1) gold

(2) bauxite

(3) copper
(4) iron
Dasa Sahitya emphasized on

which field?

(1) Dance
(2) Music
(3) Art

(4) Grammar

Velevalli institution was widely
active during which period?
(1) The Rashtrakuta period
(2) The Hoysala period

(3) The Vijayanagara period

(4) The Nayaka period

(21)

43. The first scientific racial

45.

classification of India was
attempted by whom among the
following?

(1) Herbert Risley
(2) Max Muller
(3) D. N. Majumdar

(4) 1 P. Desai

Illom is

(1) “matriarchal joint family
(2) patriarchal joint family
(3) infant joint family

(4) All of the above

Who among the following used
the Marxian theory to analyse
the Indian class structure in
agrarian relations?

(1) D. N. Dhanagare

(2) A. R. Desai

(3) Daniel Thorner

(4) M. N. Srinivas
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49. o o0er WY 0 FI0FE,Tong,
DB T2, CORAT TRFBZY, BROO:

(i) BT 9,0 (a) 1978
50083 (CDP)
(i) To&yeod> SRTE (b) 1952

(i11) REOM, 779,e0eed &
52030 5,30 (IRDP)
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46. Which of the following States
implemented 3-tier Panchayati

Raj Institutions for the first time
in India?

(1) Rajasthan
(2) Bihar

(3) Karnataka
(4) Kerala

47. What is/are the objective(s) of
Panchayat Extension to the
Scheduled Areas (PESA) Act?

(1) To provide autonomy for
the tribal population

(2) To have village governance
with participatory
democracy

(3) To preserve traditions and
customs of  tribal
population

(4) All of the above

48. Which of the following States
have not implemented
Panchayati Raj Institutions in
India?

(1) Nagaland, Meghalaya and
Mizoram

(2) Meghalaya, Mizoram and
Assam

(3) Nagaland, Mizoram and
Delhi

(4) None of the above
/559

(23)

49. Match the following Rural
Development Programs with
launched years :

(i) The Community (a) 1978
Development

Programme (CDP)

(i) The National Extension (b) 1952
Service (NES)

(i) The Integrated Rural (c) 2005
Development
Programme (IRDP)

(iv) The National Rural  (d) 1953

Employment Guarantee
Scheme (NREGS)

Choose the correct answer
from the options given below :

W 6@ @ ()
(1) (@ - (b) (¢ (4
2) d (¢ (b)) (a)
3) () (d) &)

4) (© (@ (d (b

D
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50. Which day is celebrated as the
National Panchayati Raj Day
every year?

(1) January 26

(2) October 2
(3) April 24
(4) June 24

51. Who was the founder of the
first Agricultural Credit
Cooperative Society in India?

(1) Sir Frederick Nicholson

(2) Siddanagouda Sanna
Ramanagouda Patil

(3) Robert Owen

(4) None of them

52. Which software has been
developed for management of
Finance, Accounting and
HRMS in Gram Panchayats?
(1) Bhoomi
(2) Kaveri

(3) Parivahan

(4) Panchatantra

/559 (25)

53. Match the following committee
names with the years of their

establishments :
Name of the Year of
Committee Establishment
(i) G.V.K Rao (a) 1977
Committee
(ii) L. M. Singhvi (b) 1988
Committee
(iii) Ashok Mehta (c) 1985
Committee
(iv) Gadgil Committee (d) 1986

Choose the correct answer
from the given combinations :

6 @ @ ()
1) (@ () (o (d)
(2) (@ (¢ () (a)
B ( (@ (a) (b
4 () (d (¢ [

54. Which Section of Panchayat Raj
Act deals with the appointment
and control of employees?

(1) Section 13
(2) Section 113
(3) Section 213

(4) All of the above
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Which of the following is not a
tributary of River Krishna?

(1) Hiranyakeshi

(2) Koyna

(3) Panchaganga

(4) Shimsha

As per the Economic Survey of

Karnataka 2021-22, total forest
area in Karnataka is

(1) 42191-62 sq. km
(2) 42200-52 sq. km
(3) 3755062 sq. km
(4) 43441-52 sq. km

Karnataka Housing Board was
established in

(1) 1956
(2) 1962
(3) 1982
(4) 1997

(27)

58.

59.

60.

Expand KAPY.

(I) Krushi Aranya Protsaha
Yojane

(2) Krishi Abhivruddhi
Prerana Yojane

(3) Krishi Arthikate Protsaha
Yojane

(4) Karnataka
Protsaha Yojane

Arogya

The head office of Karnataka
State Mango Development and
Marketing Corporation is
located in

(1) Mysore

(2) Haveri

(3) Bengaluru

(4) Mandya

Karnataka ranks _ in the
India Innovation Index, 2022.
(1) first

(2) second

(3) fifth

(4) eighth
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61. Arrange the following waterfalls

62.
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in ascending order as per their
heights :

(i) Kalhatti falls
() Barkana falls
(i) Jog falls
(iv) Magod falls
Codes :
(1) (), (i), (i), (i)
(2) @), (i), (iv), (i)
(3) (i), (ii), (iti), (iv)
(4) (@), (i), (iv), (iti)

Nutrients present in food like
proteins, carbohydrates and
lipids are digested _by
pancreatic digestive enzymes
proteases, carbohydrases.and
lipases respectively. There are
plant sources of digestive
enzymes that are suggested as
supplements for enhancing
digestion process. Which
among the following fruits is a
rich source of lipid /fat digesting
enzymes?

(1) Kiwi fruit
(2) Banana
(3) Avocado

(4) Mango

(29)

63. Which of the following vitamins

64.

is essential in the formation of
red blood cells, helps in the
absorption of iron, nourishes
the brain and nervous system
in the body and has been
developed as a nasal spray?

(1) Vitamin Bl

(2) Vitamin A

(3) Vitamin C

(4) Vitamin B12

Gradual thinning of earth’s
ozone layer, the atmospheric
shield at stratosphere, is a
symbol of global environmental
degradation. Ozone layer
depletion is caused by
chlorofluorocarbons. Which one
among the following does not

belong to chlorofluorocarbon
group of molecules?

(1) Trifluoromethane
(2) Carbon dioxide
(3) Dichlorodifluoromethane

(4) Chlorodifluoromethane

D
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65. Golden rice is consumed
overcome the deficiency of

(1) vitamin A
(2) vitamin D
(3) vitamin E
(4) vitamin K

66. Lysosomes have
(1) catalytic activity
(2) parasitic activity
(3) synthetic activity
(4) hydrolytic activity

67. A newborn baby acquires
immunity through

placental transfer

antibodies.

(1) natural passive

(2) artificial passive

(3) natural active

(4) artificial active
/559

to

of

(31)

68. The first enzyme to be isolated

69.

70.

and purified was

(1) peptidase

(2) urease

(3) hexokinase

(4) reverse transcriptase

Which of the following is an
autoimmune disease?

(1) Cardiac arrest
(2) Heart attack
(3) Rheumatoid arthritis
(4) Jaundice
system aided in

reducing pendency in respect
of Phodi cases.

(I) The E-seva
(2) The Apatk_al
(3) The Tatkal
(4) The Sakala
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71.

B-TRAC refers to

(1) Bengaluru Traders
Improvement Project

(2) Bengaluru Tailors
Improvement Project

(3) Bengaluru Transport
Improvement Project

(4) Bengaluru Traffic
Improvement Project

72. Which country first established

73.

/559

nano urea (liquid) production
unit in the world?

(1) India
(2) Brazil
(3) China

(4) United States

Deionised water may be
obtained by the use of

(1) partition chromatography

(2) ion exchange
chromatography

(3) gel chromatography

(4) thin layer chromatography

(33)

74. Chromatography is used

75.

76.

(1) to separate mixtures
(2) to purify compounds

(3) to test the purity of
compounds

(4) All of the above

The least random state of water
system is

(1) 1ice
(2) liquid water
(3) . steam

(4) "equal randomness in all

Which of the following is an
example of corrosion?

(1) Rusting of iron
(2) Tarnishing of silver
(3) Reduction of iron

(4) Rusting of iron and
tarnishing of silver

77. Angora wool is obtained from

(1) sheep
(2) fox

(3) goat
(4) rabbit
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(4) 88 e sOTE@
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(1) (a) (d) (c) (b)
@ @ © @
B) ® ) (@ (@

4 (@ (@ (© (b



78. Article 22 of the Constitution

guarantees which of the
following rights?

(I) The right to assembia

peacefully and without
arms

(2) The right to protection
against double jeopardy

(3) The right to protection
against arrest and
detention in certain cases

(4) The right to live with
human dignity

79. Which Amendment to. the
Indian Constitution réemoved

the Right to Property from the
list of Fundamental Rights?

(1) The 44" Amendment
(2) The 4274 Amendment
(3) The 48t Amendment

(4) The 88th Amendment

/559 (35)

80. Match the subjects with
appropriate Articles of the
Constitution.

(i) Constitution (a) Article 243Q

of Panchayats

(ii) Constitution of (b) Article 170
Legislatures in
States

(i) Constitution of (c) Article 168
Municipalities

(iv) Composition (d) Article 243B

of Legislative
Assemblies

Select the correct answer
sequence :

(1) (i) (ii1) (iv)

1) (@ (d) () (b)

2 @ (© (@ (b

) B (© (a) ()

4) (d (@) () (b
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81.

Which of the state

: mnents gj
below is/are ¢q S given

I'rect?

The. Sixth Scheduyle of the
Indian Constitution was
introduced for the Purpose of

(i) th.e administration of
Tribal Areas in the Stateg

of Meghalaya, Tripura and
Mizoram only.

(W) giving the power to the
Governor to divide the
districts into Autonomous
District Councils (ADCs).

(1) (i) only
(2) (i) only
(3) Both (i) and (i)

(4) Neither (1) nor (ii)

82. The Supreme Court of India

/559

applied the Doctrine of
Severability to constitutional
amendments in the case of

(1) A. K. Gopalan v. State of
Madras

(2) I C. GolaknathV. State of
Punjab

(3) Keshavananda Bharati v.
State of Kerala

(4) Kihota Hollohan V.

Zachilhu

(37)

83.

84.

85.

Which Schedule of the Indian
Constitution enlists the
classical languages of India?

(1) VII
(2) IX
(3 X
(4) XI

Which part of the Constitution
describes India as a secular

State?

(1) The Fundamental Rights

(2). The Directive Principles of
State Policy

(3) The Fundamental Duties

(4) The Preamble to the
Constitution

The Commission constituted by
the Government of India in
2007 to look into the new
issues of Centre-State relations
is popularly known as

(1) Sarkaria Commission
(2) Punchhi Commission

(3) Justice
Commission

Mukherjee

(4) Justice B. N. Srikrishna

Commission
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g86. Which of the following is not

87.
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an emerge?ncy Provision under
the Constitution?

(1) Emergency due to natural
calamity

(2) Emergency due to war

external aggression or
armed rebellion

(3) Emergency due to failure
of State machinery

(4) Financial emergency

Which of the statements given
below is/are correct?

The Constitutional (One
Hundred and Third
Amendment) Act, 2019 has

(i) amended Article 15 and
Article 16 of the Indian
Constitution.

(i) enabled both the Centre
and the States to provide

reservation to the
Economically Weaker
Section (EWS) of the
society.

(i) added a maximum of 10%
reservation in addition to
the existing reservations.

(1) (i) only

(2) (i) and (iii) only
(3) (i) and (ii) only
(4) All of the above

(39)

88.

89.

The National Commission,

constituted under Article 338A
of the Indian Constitution, 1s

known as

(1) National Commission for
the Scheduled Tribes

(2) National Commission for
Women

(3) National. Commission for
Child Welfare

(4) None of the above

Forests and wildlife find a
mention in the Constitution
under which of the following
Lists?

(1) Union List

(2) State List

(3) Concurrent List

(4) None of the above
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90.

91.

92‘

Which State of India wa

S
selected by the World Health

Organization (WHO) for the
World No Tobacco Day (WNTD)
Award-2022, towards itsg efforts
in controlling

tobacco
consumption?

(1) Uttarakhand

(2) Jharkhand
(3) Karnataka
(4) Kerala

Which two States of India have
highest rate of underage
marriage according to National
Family Health Survey (NFHS-
8)?

(1) West Bengal and Sikkim
(2) Bihar and Punjab
(3) West Bengal and Bihar

(4) Bihar and Sikkim

The Prime Minister’s
Employment Generation
Programme (PMEGP) has been
extended till which year?

(1) 2023-24
(2) 2024-25
(3)° 2025-26
(4) 2029-30

(41)

93.

94,

95.

The largest source of National
Income in India is

(1) service sector

(2) agriculture

(3) industrial sector

(4) trade sector

The basis of determining

dearness . allowance to
employees in India is

(1) ‘mnational income

(2) consumer price index

(3) standard of living

(4) per capita income
WAN-IFRA is an international
organization associated with
(1) telecommunication sector
(2) entertainment sector

(3) advertising sector

(4) Neéwspaper publication

and editing
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96. ‘Earn while yoy learn’ scheme

has been launched by the 99. Suburbs have grown first along

the major roads leading into
the town. This type of growth

(1) Ministry of Human is known as
Resource
(1) ribbon
(2) Ministry of Tourism
(2) infil
(3) Ministr f R
y o ural (3) buffer

Development

(4) Ministry of Youth (4) conurbation

100. Match the following from List— I

97. In the Koppen’s classification with List—IT and select correct
of climate, BWk refers to answer from the given code :
(1) mid latitude cold desert List—I List—II

(2) monsoon climate (i) Intrusive rock (a) Peat

(3) low latitude hot desert (ii) Extrusive rock (b) Quartzite

(iti) Sedimentary rock (c) Dolerite
(4) mid latitude cold-steppe

climate (iv) Metamorphic rock (d) Basalt
98. Rift Valley is mainly formed e
due to 6 @) @) (v
(1) reverse fault (1) (d) (c) (b)  (a)
(2) normal fault 2) (¢ (@ (a) (b

(3) thrust fault B () (@) () (a)

(4) tear fault @ © (@ (@ (b

/559 (43) D
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